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High TA Assessment -

When & pc has a high TA (4.0 or above) after having one
or more sessions, it is OBVIOUS THAT THE. EARLIER CHAINS FOUND
WERE NOT- ERASED. : .

What makes a TA high? A TA, in Dlanetlcs, is high ONLY
for one reason. One or more engram chains are IN RESTIMULATION.

A hight TA equals mental energy mass.

Engrams have mass in them even when they are pictures. The
figures in the picture, the scenery, the picture have mass.

It is electrical mass.
It registers as a TA above 3.

To say that the TA is 3.3 and the picture was erased is
silly. That .3 is indicating that part of the mass is still
there. )

This is often also true above 2.0.

When the meter needle is not floating the TA is reglsterlng
mass. Mental mass.

So when you see a TA going up, up, up you know the picture
isn't erasing but is getting more SOLID.

The solidness is visible right on the TA dial.

So to ask for a rerun when you've already ground and ground
and the TA has been up up up is silly.

The meter is already telling you there is an earlier in-
cident as the one the pc is in is getting more solid and is
not erasing.

In Scientology & high TA means "overrun". The Dianetic
auditor however doing Dianetics does not "rehad" the F/N. He
is handling why the TA does go high. Mental mass consisting
of pictures. A Scientology overrun goes by an F/N. In the F/N
movement the mass moved away. It didn't erase. If you keep on
running the same action the mass moves in again. The Scientology
auditor recovers the moment it moved off by "rehabbing the
point of release". The Dianetic auditor in doing Dianetics
finds the incomplete chain, carries it to basic and gets it
GONE forever.

If the C/S cannot find the incomplete chain by folder
inspection he orders "Assess the pictures or masses PC has
touched in life or auditing and have been left unflat, get its
somatic, Run R3-R".

Low TA

A low TA (below 2) means the pc is overwhelmed and has re-
treated.



If you chop up a pc¢ with bad TRs you may see his TA go

Also some incidents force a pc below 2. but when théy,
are erased the TA comes back up to F/N.

If you think you have had an erasure but the TA is below
2 at the time of F/N, then you haven't erased any chain.

Exception

A discharged meter or one with its trim set incorrectly
(2.0=2.0) or a faulty meter or electrodes will give the audi-
tor or examiner wrong reads.

" One should check his meter before session for full charge

and get the pc to squeeze the cans to see if he is registering
on the meter.
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